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Instructions : The question paper consists of five Sections. Each Section carries 40 marks.
Section — I is compulsory and contains twenty objective questions. Each carries
two marks (2x20=40). Sections — II to V contain two optional long descriptive
questions each. The candidate is required to answer one question from each Section.

fdar - W 9 af= @vel 7 eeh @1 WS @ 40 3kl & ¢ | @vs -1 sifrard 8, e
A-A FT F 20 T8 TE T (2x20=40)| @R -1 § V TF YA T2 A
A-A Afors S -Ia0a WA €| Terhiat S wds g@ve # ¥ UF & SR oAl
&l
SECTION-1T (2x20=40)

Qs -1

1. A persistent fall in general price level of goods and services is known as
(A) Disinflation (B) Deflation
(C) Stagflation (D) Depression
a@aﬁaﬁt@mﬁ%mmt@:wﬁmﬁmﬁaaﬁmm%t
(A) ITEEhIfa (B) srqeEhrid
(C) TTHRINH D) T
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2. The book Planning Economy for India was written by

(A) V.K.R.V. Rao (B) M. Visvesvaraya
(C) K. N. Rai (D) Manmohan Singh
(A) @l Fo AR, dl, T B) TH, fagawEian
(C) o TA, T4 (D) TR fae

3. For arural person, the minimum calorie needed to reach above poverty line is
(A) 2400 calorie (B) 2100 calorie
(C) 1800 calorie (D) 1500 calorie
T YW =Afch &l et 3@ § IR 9E9 & 0 smasad FAan weart €
(Ay 2400 HeR (B) 2100 T
(C) 1800 FeAKi (D) 1500 FerT

4.  Which of the following best describes the labour force participation rate?
(A) The percentage of working-age population out of the total population
(B) The percentage of working-age population that is employable

(C) The percentage of working-age population that is employed or actively seeking
employment

(D) The percentage of working-age population that is a part of formal sector

freafafaa # & =4, 59 90 AFIGRKI R 1 G99 =07 0 AT 2

(A) T TAEET H F FHHEEN IW F TTGEAT T Hfasa

(B) WIS SH il ATATG T Wi w1 ISAR 41T
(C)Mmﬁwﬁmmnﬁamﬁm%maﬁmm%m@@%
(D) siu=tie &3 # et IW 6l ARl o1 wfava
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5. FRBM Committee recommended centre debt to GDP ratio to be at
(A) 37 percent (B) 40 percent
(C) 25 percent (D) 35 percent
FO-SE sAET & 'l ¥ FRBM afifa gra S 1 @t srerEn @
(A) 37 wfdsa B) 40 Ufdem@
(©) 25wfawd (D) 35 wfdud
6.  Who among the following used the term ‘Green Revolution’ for increasing agricultural production
in India?
(A) Norman Borlang (B) M. S. Swaminathan
(C) RajKrishna (D) R.K.V.Rao
Frefafaa # 3 frey wra § i Saresda 9gm & fau gfa wifa w= w1 sEm
qr17?
(A) AHA FAm B) T, TH, WHMATIA
(C) TSIHvm (D) I F, dl, TE@
7.  The fundamental cause for the collapse of the Bretton Woods system was
(A) The liquidity problem (B) the adjustment problem
(C) the confidence problem (D) All of these
FeA g9 VOISl % 9ad 1 A HRO AT
(A) AT hi T (B) WHHEISH H TH T
(C) wTcHigvarE & wHE (D) =T ¥ &w
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“Atmanirbhar Bharat’ scheme focuses on which of the following?
(A) Import substitution (B) Export industrialization

(C) Both (A) and (B) (D) Neither (A) nor (B)

‘AR qRa g, ffafaa § e w o Sha ot 27

(A) 3maTa ufaeums B) frata si=mieo
c(cg (A) 3R (B) qHi (D) A& (A) T (B)

Tenancy reform is related to

(A) Regulation of rent (B) Security of tenure
(C) Conferment of ownership rights (D) All of these
FTEIHRT IR F €94 ©

(A @m F fafmm | (B) FIARR! & |
(C) wrfre sfiert & gfe @ Oy T ¥ 9

Which of the following is a tax exclusively imposed and collected by the States?
(A) Income Tax (B) Corporation Tax

(C) GST (D) Land Revenue
frafafeg § ¥ @9-T1 W 999 9 @ T TR T RS9 S 22

(A) FEER B) frm

(C) Mo TH, & D) T
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Mid-day meal, public distribution system, integrated child development schemes are

(A) Poverty alleviation approach (B) Growth oriented approach

(C) Minimum basic need approach (D) None of these

e 3 +iw, W oo womedt, udhiea = faema deEnd 2
(A), TV I i ®) ot e
(C) _~Fa™ il smawsd gedm (D) T & FiE AL

The Jharkhand Government has launched three employment schemes focusing on the long-
term goals of sustainable development and creating new assets in the State.

[

Birsa Harit Gram Yojana (BHGY)
Veer Sahid Poto Ho Khel Vikas Scheme (VSPHKVS)

IL.

III. Nilamber Pitamber Jal Samridhi Yojana (NPJSY)

IV. Deen Dayal Upadhyay Grameen Kaushalya Yojana (DDUGKY)
(A) L1II, I (B) ILIIL IV

(©) NILIV,I O Iv,L1I

o # waa fawE 3R 42 wuf 99 F SreEiee 98 R e Hiwd #Xd g FRAvE
FCEHR = A ISR s, O 6l 8

. T s wm g

. dR @G Poto Ho Wa faswma drsr
M. R diame) 9d @gfg aen
IV, TFEa SUIEE W v FsE

(A) L II III B) ILII IV

(C) MLV, 1 D) IVLI
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13.  Revamped Public Distribution System provides benefits to
(A)  Self-help groups (B) Cooperative societies

(C) Remote and backward areas (D) Cities

wAfififa wrdwfaes faawor womelt formar = e @l 27

(A) I "eddl 99qe (B) w@ewrl afmfaar
(C) IR ¥R fuss zam (D) _9IR

14.  What is the aim of Pradhan Mantri Samman Nidhi Yojana?
(A) Minimum income to the farmers (B) Pension to the farmers

(C) Imigation (D) Free electricity to the farmers

v g fAf Fe w5 SR = R

(@_\P%m:ﬁaﬁ?@mm B) fwramEl = 9=
©) f&=rd ) fremt =t g fasret

15. Arrange the following sources of irrigation as per descending order of their irrigated areas.
I. Canals
II.  Wells & Tubewells
IMI. Tanks
Choose the correct options from the code given below :
(A) LIIL III B) ILILII

(© ILILT D) LI
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M F T oA

() T

¥ fu T freed Y W fee 9

(A I,II, III B) I I, III
© I II,1 _@ I, ITI, 11

According to economic survey of Jharkhand, the GSDP at constant prices was estimated to
grow at the rate of percent in financial year (2023-24) and at the rate of
percent in the next year (292_4-25).

(A) 5-1and 5.7 (B) 6-1 and 67
(C) 7-1 and 7-7 (D) 81 and 87
ARGUE i fE gdqm F ER R fal | a9d T e, S o ad

(2023-24) ® wfdea 31T 3FTe 99 (2024-25) # wfayd &7 22 | =924 &1
A ST T AT

(A) 5-1 3 5.7 B) 6-1 3 6.7
©r 71 iR 7.7 (D) 81 37X 8.7

Which is not a Kharif crop?

(A) Jowar (B) Maize
(C) Groundnut (D) Wheat
FA-€ TOE I HET AE 27

(A) ¥EOI (B) HERI
(©) et By "
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20.
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Which five-year plan focused on ‘Growth with social justice and equity’?

(A) Ninth Five-Year Plan (B) Eighth Five-Year Plan

(C) Seventh Five-Year Plan (D) Sixth Five-Year Plan

HF W T=FENE AN WG AE ok wHEa § e fwe W) 417
(A) e YeaHia g (B) #Tedl G=aHig IS

(27 HIadt qeeasE gisEn (D) ©3l q=adid ST

The standard of living in a country is represented by its
(A) Poverty Ratio (B) Per capita Income

(C) National Income (D) Unemployment Rate

feret 231 # Siaa &= = wfafifia sas o1 forar smar 21

(A) TRt 9 By ufq =fw sm

(C) gE I D) =R R

Fiscal deficit of Jharkhand for 2024-25 is targeted at percent of GSDP.

(A) 3 B) 2

(C) 4 D) 5

¥ 2024-25 % U ARGUS F TARINEI =TT, Hohel TF UL IS ufiyera
aftra forar am R)

(A) 3 B) 2

©r 4 D) 5
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1. Distinguish between net product method and factor-income method of estimating national
income. Which of these methods are followed in India?

TEE A F AFA weA O qg v Bl sk mem-sm By o o
AR FAC| TH A wA-A Bifa R F s s 20

OR / &=t

“Indiais currently experiencing a demographic dividend.” Explain. Discuss challenges and risks
asssociated with this kind of demographic transition.

AﬁWﬁWW%W@HHW%I”WWﬁI%
THER % SR W d I9 gk ok s wow=t o 40

SECTION - I11
| vs - 111

2. Describe the important characteristics of an underdeveloped economy. Do you consider
Indian economy an underdeveloped economy? Give reasons for your answer.

stferepfera srferaRan & Aew w@vi w1 v K| T A9 WRAE aderEer 9
sfawfa sderaen AMd €7 999 TR ¥ SR =)

OR / &19=n

What do you understand by inclusive growth? Critically examine the Government policies to
promote inclusive growth in India.

TaEs fawm@ | o0 w1 wwed €7 WRa # owwa faww @ @emr 3 ¥ fau
WEHER Affqal &1 e=ATeHs gEn e 40
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3. Explain the concept of food security system. What are the flaws in Indian food security
programme? What policy measures have been undertaken by the Government to ensure food

security for all?

G AT WOl h AR P THARY| WRA G RET FEEH ¥ oF @b
& W fou wm gen ghftan w1 % fon w@R g w0 Ao s f
T g7

OR / 3tqat

What do you mean by Foreign Direct Investment (FDI)? Briefly discuss the FDI policy and its
performances in India.

geaer facei fay & sy = qrend 29 R ws faelt fray iy v sas
weilm &t wfaw amen w%) 40

SECTION-V
grs-v

4, Give an overview of industrial development in the State of Jharkhand since 1991. Discuss the
problems faced by the Industrial Sector in the State.

1991%aﬁﬁmwﬁaﬁﬁﬁmﬁmwﬁ’sﬁmﬁaﬁlwﬁaﬁﬁﬁ@
8 EA AETel wEEne wowsi @y
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OR / 19t

Explain the nature and causes of unemployment in Jharkhand. What steps have been taken by
the Jharkhand Government to solve the problem of unemployment?

TREvE R R wEh R FRet A wmen | SKemH H 'R §
U ¥ fou AREve §@R A ¥ Hed 98d ©7 40
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